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No. 0 + 7.00 1.80 1.00 2.80
No. 1 13.00 1.80 23.40 1.00 13.00 2.80 36.40 13.00 Ashifid t =5cm
No. 1 1.80 1.00 2.80
No. 1 + 10.80 10.80 1.80 19.44 1.10 11.34 2.90 30.78 10.80 Ashilidt t =5cm
No. 1 + 10.80 1.80 1.10 2.90
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No. 1 + 2.20 2.20 0.90 1.98 2.20 7.32 3.10 9.30 Ashitidt t =6cm
No. 1 + 220 0.90 2.20 3.10
No. 2 17.80 0.90 16.02 2.20 39.16 3.10 55.18 Astifid t =6cm
No. 2 0.90 2.20 3.10
No. 3 20.00 0.90 18.00 2.20 44.00 3.10 62.00 Ashitiz t =6cm
No. 3 0.90 2.20 3.10
No. 3 + 10.10 10.10 0.90 9.09 2.20 22.22 3.10 31.31 Ashifidt t =6cm
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No.1 + 6.00 6.00 0.90 5.40 4.50 27.00 5.40 32.40 6.00 Ashifidt t =6cm
No.1 + 6.00 0.90 4.50 5.40
No.1 + 6.70 0.70 0.90 0.63 4.50 3.15 5.40 3.78 Ashitidé t =6cm
No.1 + 6.70 0.90 4.85 5.75
No. 2 13.30 0.90 11.97 4.80 64.17 5.70 76.14 Ashitiz t =6cm
No. 2 0.90 4.80 5.70
No. 3 20.00 0.90 18.00 4.80 96.00 5.70 114.00 Ashifidt t =6cm
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w8 [ E B iR w5 iR SR E B [T i B [T 1 5 [T SR
No. 3 0.90 4.80 5.70
No. 4 20.00 0.90 18.00 4.75 95.50 5.65 113.50 Ashitid t =6cm
No. 4 0.90 4.75 5.65
No. 5 20.00 0.90 18.00 4.70 94.50 5.60 112.50 Ashitid t =6cm
No. 5 0.90 4.70 5.60
No.5 + 5.70 5.70 0.90 5.13 4.70 26.79 5.60 31.92 5.60 Ashitizg t =6cm
BBZEHF|No. 0 0.90 5.95 6.85
4 [No. 0 + 3.10 3.10 0.90 2.79 3.00 13.87 3.90 16.66 Ashitid t =5cm
No. 0 + 3.10 0.90 2.70 3.60
No. 1 16.90 0.90 15.21 2.70 45.63 3.60 60.84 Ashitiz t =5cm
No. 1 0.90 2.70 3.60
No. 1+ 14.50 14.50 0.90 13.05 2.70 39.15 3.60 52.20 Ashitidt t =5cm
BBEE|No. 0 0.95 4.15 5.10
5 [No.0 + 1.10 1.10 0.95 1.05 3.70 4.31 4.65 5.36 Ashitid t =4cm
No. 0 + 1.10 0.95 2.80 3.75
No. 1 18.90 0.95 17.96 2.75 52.44 3.70 70.40 Ashitidt t =4cm
No. 1 0.95 2.75 3.70
No. 1+ 16.00 16.00 0.95 15.20 2.75 44.00 3.70 59.20 Ashitid t =4cm
BB (No. 0 0.90 4.05 4.95
6 |No.1 20.00 0.90 18.00 4.05 81.00 4.95 99.00 Ashitiz t =6cm
No. 1 0.90 4.05 4.95
No. 1 + 4.30 4.30 0.90 3.87 4.05 17.42 4.95 21.29 Ashitid t =6cm
JIIE [No. 0 0.90 2.50 3.40
7 [No.0 + 7.00 7.00 0.90 6.30 2.00 15.75 2.90 22.05 Ashifidt t =5cm
No. 0 + 7.00 0.90 2.00 2.90
No. 0 + 8.00 1.00 0.90 0.90 1.10 1.55 2.00 2.45 Ashitidt t =5cm
No. 0 + 8.00 0.90 1.10 2.00
No. 0 + 9.40 1.40 0.90 1.26 1.10 1.54 2.00 2.80 Astifid t =5cm
No. 0 + 9.40 0.90 1.10 2.00
No. 0 + 10.20 0.80 0.90 0.72 2.00 1.24 2.90 1.96 Ashitiz t =5cm
No. 0 + 10.20 0.90 2.00 2.90
No. 1 9.80 0.90 8.82 1.90 19.11 2.80 27.93 Ashifidt t =5cm
No. 1 0.90 1.90 2.80
No. 2 20.00 0.90 18.00 1.85 37.50 2.75 55.50 Ashitid t =5cm
No. 2 0.90 1.85 2.75
No. 2 + 8.10 8.10 0.90 7.29 1.50 13.57 2.40 20.86 Ashifidt t =5cm
No.2 + 8.10 0.90 1.50 2.40
No. 3 11.90 0.90 10.71 1.80 19.64 2.70 30.35 Ashitidé t =5cm
No. 3 0.90 1.80 2.70
No. 3 + 11.20 11.20 0.90 10.08 2.05 21.56 2.95 31.64 Ashilidt t =5cm
No. 3 + 11.20 0.90 2.05 2.95
No. 3 + 14.60 3.40 0.90 3.06 4.60 11.31 5.50 14.37 Ashifidt t =5cm
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w8 [ E B iR w5 iR SR E B [T i B [T 1 5 [T SR
No. 3 + 14.60 0.90 4.60 5.50
No. 4 5.40 0.90 4.86 4.55 24.71 5.45 29.57 Ashitid t =5cm
No. 4 0.90 4.55 5.45
No. 4 + 13.90 13.90 0.90 12.51 5.00 66.37 5.90 78.88 Ashifidt t =5cm
No. 4 + 13.90 0.90 5.00 5.90
No. 4 + 17.20 3.30 0.90 2.97 3.65 14.27 4.55 17.24 Ashitizg t =5cm
No. 4 + 17.20 0.90 3.65 4.55
No. 5 2.80 0.90 2.52 4.45 11.34 5.35 13.86 Ashitid t =5cm
No. 5 0.90 4.45 5.35
No.5 + 12.60 12.60 0.90 11.34 4.80 58.28 5.70 69.62 Ashilidt t =5cm
No.5 + 12.60 0.90 4.80 5.70
No. 6 7.40 0.90 6.66 4.95 36.08 5.85 42.74 Ashitidt t =5cm
No. 6 0.90 4.95 5.85
No. 6 + 8.30 8.30 0.90 7.47 5.05 41.50 5.95 48.97 Ashitid t =5cm
No. 6 + 8.30 0.90 5.05 5.95
No. 6 + 10.00 1.70 0.90 1.53 3.70 7.44 4.60 8.97 Ashitidt t =5cm
No. 6 + 10.00 0.90 3.70 4.60
No. 6 + 10.60 0.60 0.90 0.54 3.60 2.19 4.50 2.73 Ashitid t =5cm
No. 6 + 10.60 0.90 3.90 4.80
No. 7 9.40 0.90 8.46 3.40 34.31 4.30 42.17 Ashitiz t =5cm
No. 7 0.90 3.40 4.30
No. 7 + 9.60 9.60 0.90 8.64 2.50 28.32 3.40 36.96 Ashifidt t =5cm
JIIE [No. 0 0.90 2.30 3.20
8 [No.0 + 1.00 1.00 0.90 0.90 1.80 2.05 2.70 2.95 Ashitid t =5cm
No. 0 + 1.00 0.90 1.30 2.20
No. 0+ 3.00 2.00 0.90 1.80 0.90 2.20 1.80 4.00 Ashitidt t =5cm
No. 0 + 3.00 0.90 0.90 1.80
No. 0+ 15.00 12.00 0.90 10.80 0.95 11.10 1.85 21.90 Astifid t =5cm
No. 0 + 15.00 0.90 0.65 1.55
No. 0+ 15.90 0.90 0.90 0.81 0.65 0.59 1.55 1.40 Ashitiz t =5cm
No. 0 + 15.90 0.90 0.90 1.80
No. 1 4.10 0.90 3.69 0.80 3.49 1.70 7.18 Ashifidt t =5cm
No. 1 0.90 0.80 1.70
No. 1 + 3.50 3.50 0.90 3.15 0.70 2.63 1.60 5.78 Ashitid t =5cm
No.1 + 3.50 0.90 0.70 1.60
No. 1+ 10.00 6.50 0.90 5.85 0.70 4.55 1.60 10.40 Ashitidg t =5cm
No. 1 + 10.00 0.90 0.70 1.60
No. 2 10.00 0.90 9.00 0.45 5.75 1.35 14.75 Ashitidé t =5cm
No. 2 0.90 0.45 1.35
No. 3 20.00 0.90 18.00 0.60 10.50 1.50 28.50 Ashitiz t =5cm
No. 3 0.90 0.60 1.50
No.3 + 1.40 1.40 0.90 1.26 0.60 0.84 1.50 2.10 Ashitidt t =5cm
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Tk (Bh) Tk (BAm)
x| wm oA B BUEL L FEERLE L HBIE L LI BURL L RERREE L HBEL L % =
{R&H%E5y (t=3cm) -2 21 =g /8 T.(t=4cm) fih%E 4y (t=3cm) REHIRY FB L(t=4cm)
w8 [ E B iR w5 iR SR E B [T i B [T 1 5 [T SR
No.3 + 1.40 0.90 0.85 1.75
No. 3 + 15.00 13.60 0.90 12.24 1.15 13.60 2.05 25.84 Ashitid t =5cm
No. 3 + 15.00 0.90 0.90 1.80
No. 3 + 15.70 0.70 0.90 0.63 1.00 0.67 1.90 1.30 Ashitid t =5cm
No. 3 + 15.70 0.90 1.20 2.10
No. 3 + 16.50 0.80 0.90 0.72 1.40 1.04 2.30 1.76 Ashitizg t =5cm
No. 3 + 16.50 0.90 1.40 2.30
No. 3 + 17.80 1.30 0.90 1.17 1.75 2.05 2.65 3.22 Ashitid t =5cm
No. 3 + 17.80 0.90 1.75 2.65
No. 3 + 19.80 2.00 0.90 1.75 2.65 Ashitiz t =5cm
No. 4 0.90 1.10 2.00
No. 4 + 17.30 7.30 0.90 6.57 0.80 6.94 1.70 13.51 Ashitidt t =5cm
No. 4 + 17.30 0.90 0.80 1.70
No. 4 + 13.80 6.50 0.90 5.85 0.65 4.71 1.55 10.56 Ashitid t =5cm
No. 4 + 13.80 0.90 0.65 1.55
No. 5 6.20 0.90 5.58 0.60 3.88 1.50 9.46 Ashitidt t =5cm
No. 5 0.90 0.60 1.50
No. 6 20.00 0.90 18.00 0.45 10.50 1.35 28.50 Ashitid t =5cm
No. 6 0.90 0.45 1.35
No. 7 20.00 0.90 18.00 0.40 8.50 1.30 26.50 Ashitiz t =5cm
No. 7 0.90 0.40 1.30
No. 7 + 4.80 4.80 0.90 4.32 1.40 4.32 2.30 8.64 Ashitid t =5cm
No. 7 + 4.80 0.90 1.40 2.30
No. 7 + 6.00 1.20 0.90 1.08 2.30 2.22 3.20 3.30 Ashitid t =5cm
No.7 + 6.00 0.90 2.30 3.20
No. 7 + 8.10 2.10 0.90 1.89 1.70 4.20 2.60 6.09 Conffi%é t =5cm
No. 7 + 8.10 0.90 2.70 3.60
No. 7+ 11.50 3.40 0.90 3.06 0.70 5.78 1.60 8.84 Confli%é t =5cm
No. 7 + 11.50 0.90 0.70 1.60
No. 8 8.50 0.90 7.65 0.60 5.53 1.50 13.18 Conffis t =5cm
No. 8 0.90 0.60 1.50
No. 8 + 4.60 4.60 0.90 4.14 0.50 2.53 1.40 6.67 Conffi%t t =5cm
No. 8 + 4.60 0.90 0.50 1.40
No. 9 15.40 0.90 13.86 1.05 11.94 1.95 25.80 Conffids t =5cm
No. 9 0.90 1.05 1.95
No. 9 + 1.60 1.60 0.90 1.44 1.50 2.04 2.40 3.48 Conffidé t =5cm
No. 9 + 1.60 0.90 1.80 2.70 3.10
No. 9 + 4.70 3.10 0.90 2.79 1.80 5.58 2.70 8.37 3.10 Confli%s t =5cm
JIIE [No. 0 0.90 1.40 2.30
9 [No.0 + 1.80 1.80 0.90 1.62 0.85 2.03 1.75 3.65 Conffi%s t =5cm
No. 0 + 1.80 0.90 0.85 1.75
No. 0+ 17.00 15.20 0.90 13.68 0.85 12.92 1.75 26.60 ConffiZt t =5cm
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No. 0 + 17.00 0.90 0.85 1.75
No. 1 3.00 0.90 2.70 1.20 3.08 2.10 5.78 Conffis t =5cm
No. 1 0.90 1.20 2.10
No. 1 + 1.50 1.50 0.90 1.35 1.05 1.69 1.95 3.04 Conffis t =5cm
No.1 + 150 0.90 1.05 1.95
No. 1+ 10.00 8.50 0.90 7.65 1.15 9.35 2.05 17.00 8.50 Conffidé t =5cm
No. 1 + 10.00 0.90 1.15 2.05
No. 1+ 17.00 7.00 0.90 6.30 1.15 8.05 2.05 14.35 Confli%s t =5cm
No. 1 + 17.00 0.90 1.15 2.05
No. 1 + 18.80 1.80 0.90 1.62 2.40 3.20 3.30 4.82 Conffis t =5cm
No. 1 + 18.80 0.90 2.40 3.30
No. 2 1.20 0.90 1.08 2.35 2.85 3.25 3.93 Conffit t =5cm
No. 2 0.90 2.35 3.25
No. 2 + 3.60 3.60 0.90 3.24 1.85 7.56 2.75 10.80 Conffis t =5cm
No. 2 + 3.60 0.90 1.50 2.40
No. 3 16.40 0.90 14.76 1.65 25.83 2.55 40.59 ConffiZé t =5cm
No. 3 0.90 1.65 2.55
No.3 + 2.00 2.00 0.90 1.80 2.00 3.65 2.90 5.45 Confizs t =5cm
No.3 + 2.00 0.90 2.00 2.90
No. 3 + 7.90 5.90 0.90 5.31 2.05 11.95 2.95 17.26 Conffis t =5cm
No.3 + 7.90 0.90 2.05 2.95
No. 3+ 10.50 2.60 0.90 2.34 2.05 5.33 2.95 7.67 Conffi%s t =5cm
No. 3 + 10.50 0.90 2.05 2.95
No. 3+ 12.20 1.70 0.90 1.53 1.95 3.40 2.85 4.93 Conffids t =5cm
No. 3 + 12.20 0.90 1.55 2.45
No. 4 7.80 0.90 7.02 2.10 14.24 3.00 21.26 7.80 Ashitidt t =5cm
No. 4 0.90 2.10 3.00
No.4 + 5.70 5.70 0.90 5.13 2.35 12.68 3.25 17.81 5.70 Astifid t =5cm
No.4 + 5.70 0.90 2.35 3.25
No.4 + 870 3.00 0.90 2.70 2.35 7.05 3.25 9.75 Ashitiz t =5cm
No. 4 + 870 0.90 2.35 3.25
No. 4 + 11.30 2.60 0.90 2.34 4.80 9.30 5.70 11.64 Ashifidt t =5cm
No.
No. Ashifid t =6cm
No.
No. Ashiid t =6cm
No.
No. Ashids t =6cm
No.
No. Ashiid t =6cm
No.
No. Ashifid t =6cm
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TR ) STACTEY
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TR (A
138.49
630.63 1,230.96 186.22 453.38
it T4 =
L= 801.30m
)
L= 596.40m 400.86 399.76 800.62 54.00 42.86 96.86
Ul
L= 204.90m 229.77 969.69 1,199.46 132.22 410.52 542.74




Al

i

T

EE
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[1&E1Z 5em Bifized 5]
BE [No. 0 1.00 3.50 1.00 0.60 4.50 19.00
10 |No. 0 + 19.00 19.00 1.00 19.00 4.20 73.15 1.00 19.00 0.60 11.40 5.20 92.15 19.00 |AsEizE t =1lcm
No. 0 + 19.00 1.00 4.20 1.00 0.60 5.20 1.00
No. 1 1.00 1.00 1.00 3.55 3.88 1.00 1.00 0.60 0.60 4.55 4.88 1.00 [Ashfiz t =1lcm
No. 1 1.00 6.55 1.00 0.60 7.55 3.40
No. 1 + 3.40 3.40 1.00 3.40 8.65 25.84 1.00 3.40 0.60 2.04 9.65 29.24 3.40 |AsElizE t =1lcm
No. 1 + 3.40 1.00 8.65 1.00 0.60 9.65 1.10
No. 1 + 4.50 1.10 1.00 1.10 8.65 9.52 1.00 1.10 0.60 0.66 9.65 10.62 1.10 |As#iis t =1lcm
No. 1 + 4.50 1.00 8.65 1.00 0.60 9.65 4.60
No.1 + 9.10 4.60 1.00 4.60 5.95 33.58 1.00 4.60 0.60 2.76 6.95 38.18 4.60 [Ashitt t =1lcm
No. 1 + 9.10 1.00 2.95 1.00 0.60 3.95
No. 2 10.90 1.00 10.90 2.05 27.25 1.00 10.90 0.60 6.54 3.05 38.15 10.90 |AsEiizE t =1lcm
No. 2 1.00 2.05 1.00 0.60 3.05
No. 2 + 7.20 7.20 1.00 7.20 1.50 12.78 1.00 7.20 0.60 4,32 2.50 19.98 7.20 [AskliZE t=1lcm
No. 2 + 7.20 1.00 3.90 1.00 0.60 4.90 2.30
No. 2+ 10.20 3.00 1.00 3.00 3.85 11.63 1.00 3.00 0.60 1.80 4.85 14.63 2.40 |AsElizE t =1lcm
No. 2 + 10.20 1.00 1.55 1.00 0.60 2.55
No. 3 9.80 1.00 9.80 1.45 14.70 1.00 9.80 0.60 5.88 2.45 24.50 9.80 |As#iE t=1lcm
No. 3 1.00 1.45 1.00 0.60 2.45
No. 3 + 10.10 10.10 1.00 10.10 1.35 14.14 1.00 10.10 0.60 6.06 2.35 24.24 10.10 |AsEiizE t =1lcm
No. 3 + 10.10 1.00 2.10 1.00 0.60 3.10
No. 3 + 15.20 5.10 1.00 5.10 1.85 10.07 1.00 5.10 0.60 3.06 2.85 15.17 5.10 |AsEfizE t =1lcm
No. 3 + 15.20 1.00 1.85 1.00 0.60 2.85
No. 3 + 17.00 1.80 1.00 1.80 1.85 3.33 1.00 1.80 0.60 1.08 2.85 5.13 1.80 [Ashfiz t =1lcm
No. 3 + 17.00 1.00 1.85 1.00 0.60 2.85
No. 4 3.00 1.00 3.00 1.85 5.55 1.00 3.00 0.60 1.80 2.85 8.55 3.00 |AsEfizE t =1lcm
No. 4 1.00 1.85 1.00 0.60 2.85 0.30
No. 4 + 0.30 0.30 1.00 0.30 1.85 0.56 1.00 0.30 0.60 0.18 2.85 0.86 2.85 |Asflidk t=1lcm
No. 4 + 0.30 1.00 1.70 1.00 0.60 2.70 2.70
No. 5 19.70 1.00 19.70 1.70 33.49 1.00 19.70 0.60 11.82 2.70 53.19 19.70 |AsEiizs t =1lcm
No. 5 1.00 1.95 1.00 0.60 2.95
No. 6 20.00 1.00 20.00 2.00 39.50 1.00 20.00 0.60 12.00 3.00 59.50 20.00 |Asfiizd t =1lcm
No. 6 1.00 2.00 1.00 0.60 3.00
No. 6 + 16.60 16.60 1.00 16.60 2.00 33.20 1.00 16.60 0.60 9.96 3.00 49.80 16.60 |AsEizE t =1lcm
No. 6 + 16.60 1.00 5.00 1.00 0.60 6.00
No. 6 + 18.20 1.60 1.00 1.60 6.80 9.44 1.00 1.60 0.60 0.96 7.80 11.04 1.60 [Ashiz t =1lcm
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No. 6 + 18.20 1.00 6.80 1.00 0.60 7.80 1.80
No. 7 1.80 1.00 1.80 6.80 12.24 1.00 1.80 0.60 1.08 7.80 14.04 1.80 [Ashfiz t =1lcm
No. 7 1.00 6.80 1.00 0.60 7.80 3.20
No. 7 + 3.20 3.20 1.00 3.20 6.80 21.76 1.00 3.20 0.60 1.92 7.80 24.96 3.20 |AsElizE t =1lcm
No. 7 + 3.20 1.00 6.80 1.00 0.60 7.80
No. 7 + 4.70 1.50 1.00 1.50 5.05 8.89 1.00 1.50 0.60 0.90 6.05 10.39 1.50 [Ashfiz t =1lcm
No. 7 + 4.70 1.00 2.05 1.00 0.60 3.05
No. 7 + 7.20 2.50 1.00 2.50 2.05 5.13 1.00 2.50 0.60 1.50 3.05 7.63 2.50 |AsElizE t =1lcm
No. 7 + 17.20 1.00 2.05 1.00 0.60 3.05
No. 7 + 9.10 1.90 1.00 1.90 5.00 6.70 1.00 1.90 0.60 1.14 6.00 8.60 1.90 |As#iid t =1lcm
No. 7 + 9.10 1.00 5.00 1.00 0.60 6.00 3.90
No. 7+ 13.00 3.90 1.00 3.90 5.00 19.50 1.00 3.90 0.60 2.34 6.00 23.40 3.90 |AsEfizE t =1lcm
No. 7 + 13.00 1.00 5.00 1.00 0.60 6.00
No. 7+ 14.90 1.90 1.00 1.90 2.05 6.70 1.00 1.90 0.60 1.14 3.05 8.60 1.90 [Ashfiz t =1lcm
No. 7 + 14.90 1.00 2.05 1.00 0.60 3.05
No. 8 5.10 1.00 5.10 2.05 10.46 1.00 5.10 0.60 3.06 3.05 15.56 5.10 |AsEfizE t =1lcm
No. 8 1.00 2.05 1.00 0.60 3.05
No. 9 20.00 1.00 20.00 2.05 41.00 1.00 20.00 0.60 12.00 3.05 61.00 20.00 |Asfiizd t =1lcm
No. 9 1.00 2.05 1.00 0.60 3.05
No. 9 + 16.40 16.40 1.00 16.40 2.05 33.62 1.00 16.40 0.60 9.84 3.05 50.02 16.40 [AskiZt t=1lcm
No. 9 + 16.40 1.00 2.05 1.00 0.60 3.05
No. 9 + 17.60 1.20 1.00 1.20 4.95 4.20 1.00 1.20 0.60 0.72 5.95 5.40 1.20 [Ashiz t =1lcm
No. 9 + 17.60 1.00 4.95 1.00 0.60 5.95 2.40
No. 10 2.40 1.00 2.40 4.95 11.88 1.00 2.40 0.60 1.44 5.95 14.28 2.40 |AsEfizE t =1lcm
No. 10 1.00 4.95 1.00 0.60 5.95 2.90
No. 10 + 2.90 2.90 1.00 2.90 4.95 14.36 1.00 2.90 0.60 1.74 5.95 17.26 2.90 |AsEfizE t =1lcm
No. 10 + 2.90 1.00 4.95 1.00 0.60 5.95
No. 10 + 3.80 0.90 1.00 0.90 2.05 3.15 1.00 0.90 0.60 0.54 3.05 4.05 0.90 |AsEfizE t =1lcm
No. 10 + 3.80 1.00 2.05 1.00 0.60 3.05
No. 10 + 18.10 14.30 1.00 14.30 2.05 29.32 1.00 14.30 0.60 8.58 3.05 43.62 14.30 [Askizt t=1lcm
No. 10 + 18.10 1.00 4.75 1.00 0.60 5.75
No. 11 1.90 1.00 1.90 4.75 9.03 1.00 1.90 0.60 1.14 5.75 10.93 2.70 |AsElizE t =1lcm
No. 11 1.00 4.75 1.00 0.60 5.75 2.70
No. 11 + 1.10 1.10 1.00 1.10 4.75 5.23 1.00 1.10 0.60 0.66 5.75 6.33 Astilidk t=11lcm
No. 11 + 1.10 1.00 2.05 1.00 0.60 3.05
No. 12 18.90 1.00 18.90 2.00 38.27 1.00 18.90 0.60 11.34 3.00 57.17 18.90 |AskizE t =1lcm
No. 12 1.00 2.00 1.00 0.60 3.00
No. 13 20.00 1.00 20.00 2.00 40.00 1.00 20.00 0.60 12.00 3.00 60.00 20.00 |Asfiizd t =1lcm
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No. 13 1.00 2.00 1.00 0.60 3.00
No. 14 20.00 1.00 20.00 1.90 39.00 1.00 20.00 0.60 12.00 2.90 59.00 20.00 |As#iizE t =1lcm
No. 14 1.00 1.90 1.00 0.60 2.90
No. 14 + 4.00 4.00 1.00 4,00 1.90 7.60 1.00 4.00 0.60 2.40 2.90 11.60 4.00 [Ashizt t =1lcm
No. 14 + 4.00 1.00 1.90 1.00 0.60 2.90
No. 14 + 10.20 6.20 1.00 6.20 1.90 11.78 1.00 6.20 0.60 3.72 2.90 17.98 Astilizk t =1lcm
No. 14 + 10.20 1.00 1.90 1.00 0.60 2.90
No. 15 9.80 1.00 9.80 1.85 18.38 1.00 9.80 0.60 5.88 2.85 28.18 9.80 [Ashitk t =1lcm
No. 15 1.00 1.85 1.00 0.60 2.85
No. 15 + 5.80 5.80 1.00 5.80 1.90 10.88 1.00 5.80 0.60 3.48 2.90 16.68 5.80 [AskfiZt t=1lcm
No. 15 + 5.80 1.00 1.90 1.00 0.60 2.90
No. 15 + 7.70 1.90 1.00 1.90 4.40 5.99 1.00 1.90 0.60 1.14 5.40 7.89 1.90 |As#iis t =1lcm
No. 15 + 7.70 1.00 4.40 1.00 0.60 5.40 2.30
No. 15 + 10.00 2.30 1.00 2.30 4.40 10.12 1.00 2.30 0.60 1.38 5.40 12.42 2.30 |AsElizE t =1lcm
No. 15 + 10.00 1.00 4.40 1.00 0.60 5.40 2.70
No. 15 + 12.70 2.70 1.00 2.70 4.40 11.88 1.00 2.70 0.60 1.62 5.40 14.58 2.70 |AsElizE t =1lcm
No. 15 + 12.70 1.00 4.40 1.00 0.60 5.40
No. 15 + 14.50 1.80 1.00 1.80 1.95 5.72 1.00 1.80 0.60 1.08 2.95 7.52 1.80 [Ashfiz t =1lcm
BE [No. 0 1.00 2.10 1.00 0.60 3.10
11 [No.0 + 0.10 0.10 1.00 0.10 5.30 0.37 1.00 0.10 0.60 0.06 6.30 0.47 0.10 [AskfiZE t=1lcm
No. 0 + 0.10 1.00 5.30 1.00 0.60 6.30 2.90
No. 0 + 3.00 2.90 1.00 2.90 5.30 15.37 1.00 2.90 0.60 1.74 6.30 18.27 2.90 [AskfiZE t =1lcm
No. 0 + 3.00 1.00 5.30 1.00 0.60 6.30
No. 0 + 3.10 0.10 1.00 0.10 2.10 0.37 1.00 0.10 0.60 0.06 3.10 0.47 0.10 [AskfiZE t =1lcm
No. 0 + 3.10 1.00 6.65 1.00 0.60 7.65 4.55
No. 0 + 6.10 3.00 1.00 3.00 6.65 19.95 1.00 3.00 0.60 1.80 7.65 22.95 4.70 [Ashiz t =1lcm
No. 0 6.10 1.00 2.15 1.00 0.60 3.15
No. 0+ 10.50 4.40 1.00 4,40 2.20 9.57 1.00 4.40 0.60 2.64 3.20 13.97 4.40 [Ashizk t =1lcm
No.
No. Ashitt t =11cm
No.
No. Ashfitt t =11cm
No.
No. Ashifids t =11cm
No.
No. Ashifid t =11cm
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= o B HEEL T HHIT(:=120)- BEAR T | M1 T.(:=100) LERMT REEBET REEEET FERL AEBETGRA) - =
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i B [T I B [T e B i A g B [T e B i A E B [T bE B i A E B [T
[E 5% 5em HiAZET 5]
#3E |No. 0 —  3.00 0.45 0.25 0.65 0.05 0.70
10 |No. 0 3.00 0.45 1.35 0.25 0.75 0.65 1.95 0.05 0.15 0.70 2.10 |As§%§é t =5cm
No. 0 0.45 0.25 0.65 0.05 0.70
No. 0+ 0.50 0.50 0.45 0.23 0.25 0.12 0.65 0.33 0.05 0.03 0.70 0.35 |As§%§é t =5cm
No. 0 + 0.50 0.45 0.25 0.65 0.05 0.70
No. 0+ 4.70 4.20 0.45 1.89 0.25 1.05 0.65 2.73 0.05 0.21 0.70 2.94 |As§$i§ t =5cm
No. 0 + 4.70 0.45 0.25 0.65 0.05 0.70
No. 0+ 7.20 2.50 0.45 1.13 0.25 0.62 0.65 1.63 0.05 0.13 0.70 1.75 |As§$% t =5cm
No. 0 + 7.20 0.45 0.25 0.65 0.05 0.70
No. 0+ 9.70 2.50 0.45 1.13 0.25 0.62 0.65 1.63 0.05 0.13 0.70 1.75 |As§$§é t =5cm
No. 0 + 9.70 0.45 0.25 0.65 0.05 0.70
No. 0+ 14.60 4.90 0.45 2.21 0.25 1.22 0.65 3.19 0.05 0.25 0.70 3.43 |As§$§é t =5cm
No. 0 + 14.60 0.45 0.25 0.65 0.05 0.70
No. 1 5.40 0.45 2.43 0.25 1.35 0.65 3.51 0.05 0.27 0.70 3.78 |As§%§é t =5cm
No. 1 0.45 0.25 0.65 0.05 0.70
No. 1 + 15.50 15.50 0.45 6.98 0.25 3.87 0.65 10.08 0.05 0.77 0.70 10.85 |As§$i§ t =5em
No. 1 + 15.50 0.45 0.25 0.65 0.05 0.70
No. 2 4.50 0.45 2.03 0.25 1.12 0.65 2.93 0.05 0.23 0.70 3.15 |As§$% t =5cm
No. 2 0.45 0.25 0.65 0.05 0.70
No. 2+ 0.50 0.50 0.45 0.23 0.25 0.12 0.65 0.33 0.05 0.03 0.70 0.35 |As§$§é t =5cm
No. 2 + 0.50 0.45 0.25 0.65 0.05 0.70
No. 2+ 4.40 3.90 0.45 1.76 0.25 0.97 0.65 2.54 0.05 0.20 0.70 2.73 |As§$§é t =5cm
No. 2 + 4.40 0.45 0.80 0.65 0.60 1.25
No. 2+ 11.80 7.40 0.45 3.33 0.95 6.48 0.65 4.81 0.75 5.00 1.40 9.81 |As§%§é t =5cm
No. 2 + 11.80 0.45 1.85 0.65 1.65 2.30
No. 2+ 15.60 3.80 0.45 1.71 1.85 7.03 0.65 2.47 1.65 6.27 2.30 8.74 |As§$i§ t =5cm
No. 2 + 15.60 0.45 0.75 0.65 0.55 1.20
No. 3 4.40 0.45 1.98 0.75 3.30 0.65 2.86 0.55 2.42 1.20 5.28 |As§$% t =5cm
No. 3 0.45 0.75 0.65 0.55 1.20
No. 3 + 7.20 7.20 0.45 3.24 0.75 5.40 0.65 4.68 0.55 3.96 1.20 8.64 |As§$”§é t =5cm
No. 3 + 7.20 0.45 0.75 0.65 0.55 1.20
No. 3 + 9.80 2.60 0.45 1.17 0.75 1.95 0.65 1.69 0.55 1.43 1.20 3.12 |As§%”§é t =5cm
No. 3 + 9.80 0.45 0.75 0.65 0.55 1.20
No. 4 10.20 0.45 4.59 0.75 7.65 0.65 6.63 0.55 5.61 1.20 12.24 |As§%§é t =5cm
No. 4 0.45 0.75 0.65 0.55 1.20
No. 4 + 2.20 2.20 0.45 0.99 0.75 1.65 0.65 1.43 0.55 1.21 1.20 2.64 |As§$i§ t =5cm
No. 4 + 2.20 0.45 0.75 0.65 0.55 1.20
No. 4 + 740 5.20 0.45 2.34 0.75 3.90 0.65 3.38 0.55 2.86 1.20 6.24 |As§$% t =5cm
No. 4 + 7.40 0.45 0.75 0.65 0.55 1.20
No. 5 12.60 0.45 5.67 0.75 9.45 0.65 8.19 0.55 6.93 1.20 15.12 |As§$”§é t =5cm
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T

E B

Tk (48h)
K S o BURLT HHIT(:=120)- BEAR T | M1 T.(:=100) LERMT REEBET REEEET FERL AEBETGRA) - =
1REREES WARE RS RERESRE RS | KA HREE IR S (#5/220) RC-40 RAT (FRMRL) /B L(t=3cm) 8 T.(t=5cm)
E B [T I B [T e B i A g B [T e B i A E B [T bE B i A E B [T
No. 5 0.45 0.75 0.65 0.55 1.20
No. 5 + 18.20 18.20 0.45 8.19 0.85 14.56 0.65 11.83 0.65 10.92 1.30 22.75 |As§%”§é t =5cm
No. 5 + 18.20 0.45 0.75 0.65 0.55 1.20
No. 6 1.80 0.45 0.81 0.75 1.35 0.65 1.17 0.55 0.99 1.20 2.16 |As§%§é t =5cm
No. 6 0.45 0.75 0.65 0.55 1.20
No. 6+ 4.80 4.80 0.45 2.16 0.75 3.60 0.65 3.12 0.55 2.64 1.20 5.76 |As§%§é t =5cm
No. 6 + 4.80 0.45 0.75 0.65 0.55 1.20
No. 6+ 6.60 1.80 0.45 0.81 0.75 1.35 0.65 1.17 0.55 0.99 1.20 2.16 |As§$i§ t =5cm
No. 6 + 6.60 0.45 0.75 0.65 0.55 1.20
No. 7 13.40 0.45 6.03 0.75 10.05 0.65 8.71 0.55 7.37 1.20 16.08 |As§$% t =5cm
No. 7 0.45 0.75 0.65 0.55 1.20
No. 8 20.00 0.45 9.00 0.85 16.00 0.65 13.00 0.65 12.00 1.30 25.00 |As§%”§é t =5cm
No. 8 0.45 0.85 0.65 0.65 1.30
No. 8 + 17.70 17.70 0.45 7.97 0.75 14.16 0.65 11.51 0.55 10.62 1.20 22.13 |As§$”§é t =5cem
No. 8 + 17.70 0.45 0.75 0.65 0.55 1.20
No. 9 2.30 0.45 1.04 0.75 1.72 0.65 1.50 0.55 1.27 1.20 2.76 |As§%§é t =5cm
No. 9 0.45 0.75 0.65 0.55 1.20
No. 9 + 10.00 10.00 0.45 4.50 0.75 7.50 0.65 6.50 0.55 5.50 1.20 12.00 |As§$i§ t =5em
No. 9 + 10.00 0.45 0.75 0.65 0.55 1.20
No. 9+ 13.60 3.60 0.45 1.62 0.75 2.70 0.65 2.34 0.55 1.98 1.20 4.32 |As§$% t =5cm
No. 9 + 13.60 0.45 0.75 0.65 0.55 1.20
No. 10 6.40 0.45 2.88 0.75 4.80 0.65 4.16 0.55 3.52 1.20 7.68 |As§%”§é t =5cm
No. 10 0.45 0.75 0.65 0.55 1.20
No. 10 + 1.10 1.10 0.45 0.50 0.75 0.82 0.65 0.72 0.55 0.61 1.20 1.32 |As§$§é t =5cm
No. 10 + 1.10 0.45 0.75 0.65 0.55 1.20
No. 10 + 4.20 3.10 0.45 1.40 0.70 2.24 0.65 2.02 0.50 1.63 1.15 3.64 |As§%§é t =5cm
No. 10 + 4.20 0.45 0.70 0.65 0.50 1.15
No. 11 15.80 0.45 7.11 0.65 10.67 0.65 10.27 0.45 7.51 1.10 17.78 |As§$i§ t =5cm
No. 11 0.45 0.65 0.65 0.45 1.10
No. 11 + 18.10 18.10 0.45 8.15 0.75 12.67 0.65 11.77 0.55 9.05 1.20 20.82 |As§$% t =5cem
#3E |No. 0 0.45 1.85 0.65 1.65 2.30
12 |No. 0 + 8.50 8.50 0.45 3.83 1.90 15.93 0.65 5.53 1.70 14.24 2.35 19.76 |As§%”§é t =5cm
No.
No. Ashlidk t =1lcm
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B

Tk (8h)
TR B R BELT HEHIT(t=120)- BT BHIT(t=100)- EBEMT R ET AREEET FEET FEETI(RA) .
{RAEEES BEERY RSB R | BERSHRERE IR S (#5220) RC-40 RAL (ML) #JE L (t=3cm) 8 T(t=5cm)
g 5 [ g 5 [ g 5 [ g 5 T g 5 [ g 5 i i e B i A g 5 [
& & Hilis
BERRBHAERIT
B (Confili)
112.39 178.74 T B (Ashifizé)
i TAE R
L= 249.60m 112.39 178.74 142.13 20.18 118.13 10.80 260.21 30.92
HiBh
L= 249.60m
High
1=

0¢




- U

1¢

Ty Z—{GIRER HRTIE (fHEh)

[ REERE |

Wi THER (m) A UIMAES (m) & &t
T A7 7)VMNREEIRE t=<15cm 0.023 X 71.7 m X 0.04 = 0.07 m3
T A7 7))V MREERE t=15cn 0.023 X 3859 m X 0.10 = 0.89 m3
a2 7Y —MERIE  t=15cm 0.023 X 14.7 m X 010 = 0.03 m3




